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(Time: 2V2 Hours) [Total Marks: 75]
N.B. 1) All questions are com pulsory.
2) Figures to the right indicate marks.
3} Mlustrations, in-depth answers and diagrams will be a ppreciated.
4) Mixing of sub-questions is not allowed.
5) Use of own non-programmable calculator is allowed.
Q.1 Attempt All(Each of 5Marks) (ISM)
&Y Multlplc choice questions
i.  The range of correlation cocfficient is ...........o..o.o.... o
A.0to1l \/D/-l to 1 -C.-1t00 D. None of the above
ii.  If Bis subset of A then p(A/B) ...... Ctarniaisicteniaraceas |
A1 B. P(A) | - C. P(B) D. None of the above
i, Inless than type ogrve curve, tho pomts are plotted for
A. the lower boundary and froquency -
\B the upper boundary and cumulative frequency
C. the lower boundary and cu rnulatwe frequency
D. None of the above SRR
iv. The measure of CLI'ltI‘EI]. tendenc; W Iuch can be used for further
mathemahcal treatment 1S . AP .
A. Me'm TR y ¥ ..
1 B h{Edlan ‘:xl;;" . :‘ . ‘_.,_‘-_ : "_:- -“_‘ -1._\-‘: \\-._ _t.“:‘-' ..‘\'\
S CMode,” & D ORI AN
\/f)’AJI the above A OF SR STy
A CIf the lower ancl uper Irnuts of the cIass interval are 20 and 30
= ﬂ._\. 1:.‘ S respr.chvely then the class marI\ will be ... .
,J‘} = ‘:t\_-'- A 10 B JO \ C 30 .25
y\(b) F Il mthe blanks $ quw&’ 7
k‘\,\_:;r"' RS Mode is the ."Z"JP. ?’...occurnng value in data set.
AL N In lustogram the width of the bar will be decided on the basis of
S U EE LTI lass interead
N \ﬁ”‘{w _ If the correla tion coeffrment between two variables X and Y is
,.:,ii:i;‘_‘;‘t;';“:' ‘n»_ ‘ perfect then the correla tion coefficient r =... ¥ t3¢ 4. S _J,a(_\( C by
SRS "‘: S g e v For Y = a + bx,“)’ is called as dtf-:w{%@nable
ey 3 ST v (AﬂA ) = Q. ;."
~ﬂ.~ --Q.“ _._f. > ﬁ (c) Short answers. ‘. } N .
N ;1 o \_"‘-~T‘ ~Write two requrs1tes of good measure of central tenden I'*' sheuld be o3 'JH deAy
AT T -:. ] - Define variance. The Syave 0P . P. 15 (aded Var ahge %I{;— sbhhould be. baue UPe b
fa'?¢ N :*_:CﬁV'C"Q "1 —3 ifi.- .:Write the formula of regression coefficientof XonY, g\ \ HAe ol errvad 11
ST e 1v_ " Define probability.
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Q.2  Attempt the following (Any THREE)(Each of SMM:;Z anti ratioscale. > .=~ -
(a) Explain with one example Nominal scale, Ordinal sc o IO R T
(b)  Write a short note on G R
i Frequency polygon.ii. Stem and leaf plot. t;, n s;(;iﬁe R

(c) Given the following data on the marks obtained bY studert e e i : R

examination. L ;-;~ ‘F"‘_:ﬁ“ SRR 1 SO I

22,24,15,25,10,12,14,8, 2, 4, UL TN e N

4,6,12,14,16,17,18,18,17,14,10,10,8,9,22,21,23,20,18. 5 < " s T

Construct frequency distribution with inclusive type cle:ss mterV"'il oy ,“ﬂg.f*;f“‘. ..‘t" N
(d) Obtain mean and mode for the following data - ST e o f_} %

Cl. 10-20 | 20-30 [3040 4050 5(}60‘ . .gq_-.? VAN
: “15° _{_. T4 R S RS Rl _‘:

Frequency | 2 4 ~7-
(e) Explain the procedure of obtaining Quarhle dewat:ton EOrgrou

Ped dai‘l}ﬁ "?El:lﬂ-srw’fl M"“&"T‘k

() Define standard deviation and Firid toefficient of vanahon for the m J5en Al Hne dados el
following dataX: 12,13, 14,15, 16 12,14 161 15 11 12 A
WSREEE -;;;-‘g“;;f (15M)

Q.3 Attempt the following (Any THREE) (Each of SMarks]
(a) Define first four raw moments aboutongm .Zero a.n,cf cenl:ral mornents of a
distribution.Also state the’ relahonshlp between rqw and cent:rai moments

(b) Explain the concept of slcewness. .?\Iso dlstlnglush between pos:twe and

2L - - <&
S . J\‘_‘- \v“ \.- \\ '—“1 -}. \"»“:- .:‘ﬁ g '_‘..

Negative skewness“ N ST S e S
(c) With usual notatan p1-23 yz— 8,,y1= 14 and u4-«50 then Co pute f;and

’ o » PRI v T
i:"* w5 < “a o < -t ,.;}- AT IR
ﬁz- Q _:; \\ "'"L \ = : H:"‘- .. \.. oy "\.“' <._,1. o3 K:_ .\:\_ o

(d) Represent Po_smye,l\\[egahve and’ Perfect eorre]et;on usmg ‘scatter plots.
(e) Explam l:he conceptof correlatlon and regresswn ‘Also tomment, how

R AN ot A >
regrES Sgon\ls alfferenT frﬂm CorrEIahon . -..;\' _::‘ g-:‘ X

. l.).'

(f) For the.followmgdata obtam the regressxon Tine oj the typeYon X
R - -~ — - \t ]
SIX 120w [ 34 T J 167 18 15 18
LA scouran: : N Sl | o~ ,.‘ _
_.:,hf;x;'ffpr_;; Ll‘i-';.‘.; .‘35‘.':2 iy, ;.",\ .4 NS Z“*c‘\ o> 15_.;* 4 3
SRS B S
N ST T Y TN - N 2
Q. 4> JAttempt the prlowmg (Any 'IHREE)(Each of 5Marks) (15M)
{a)° 7 Defirie: \é‘xo wm&W1ﬂ1 one’ exaxnp e
i“‘ e -\‘\\ .‘:v-f H;‘-:_\I L - :
:_Q"‘evgy‘\@\.;: & .3 Rando ExPe,runth with'one ‘example.
e N R ¥ 1"
LS NK &y SamPle 3pace and ,Eyent wlth one example.
. T,C}- oy '-.I " kkkk
‘-:7’5 S EAb)S k: Ck s d]:awn, &oma box ¢ contammg 30 tickets and a number on it is
e . k . KN 2 " v .. f'-\
SRR obseryed Obtam the p;:ebablhty that ticket drawn has a number
.k"l‘::\ \J‘__\ VQ!,\S‘“\-\*_ .-'S: :." .::' ‘:}:" N t\'f.t-v ._"_“\....\‘
SRS < Tess than 6 e
Al NS G e S e Y S S o
Wt S S Sl oGreater than 207
N S I N R b S NSRS
ol AT 3‘{:&‘%@)\.&3 b -@Er'e‘ :,;;Mu‘lthle Qf§ o ‘\'
. ™ . LA SIS oy g
‘_.\;a,."c' SENEE S le) "~ Thel letter ter oﬁthe worcf "EQUATION are arranged randomly. What is the
"."‘?n.‘?ﬂ‘?\ TR K A Yo N
"g’}\’-‘c‘?:{;_’: ""'“t‘?}:"cq?:b* Qtohabmw that an “arfangement
. S Rl I LU R
L EFTC SSDIOERV AR Sta;tsgn‘a ends with vowel.
- Q"“.ﬂ ‘{:\(’"‘:? '\_\ \'\f_.ﬂ\.::\ (.\' ; -,
S EFIES R ib- Have all Yowels together.
.'\V’FC‘-\." < F'.‘-'g ': b 1‘
TS EESE N, I Qtate Addition theorem and Bay’s theorem.
ot LT T S N ur
B T, v R
RSSO S &ifa f:}dltlon Theorem and Bay’s Theorem.
A @vo"'\\:‘ NN S‘.{:- \- oA
_‘. H’J- - X \"‘\}' A “' 'Qﬁ\“:‘ \.‘\ -y A
RSN T S s
I G IR B
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(f)

Q.5
(a)
(b)
(<)
(d)

(e)

(f)

Q. P. Code: 12213

Two dice are thrown simultaneously. Find the probability that the sum
being 6 or same number on both dice.

A hospital has 3 doctors X,Y&Z operating independently. The probability
that doctor X is available is 0.9 and that for Y is 0.6 and for Z is 0.7, What 1s
the probability that at least one doctor is available when needed?

Attempt the following (Any THREE)(Each of 5Marks)
Explain the procedure of plotting Bar chart and Pie Chart.

Write two merits and two demerits of the Mode and Coefficient of range. |

Define Kurtosis and explain different types of kurtosis.

Obtain Spearman’s Rank correlation between perforrnance in Maths and
Computer Science. The scores are given below: S ) - o
Maths 56 65 - |72 48 56 . |70 63
Computer Science | 76 60 50 75 66 87 . |77

If the two regression equations are 4y - 5X -33 =0 and 20y ~9x - 107 =0,
Find:- i. Meanofxandy ii Correlatlon coeff1C1ent bctween x and

gtockmst has 20 items in a lot. Out of wlﬁch 12 are non-defective and 8 are
defective. A customer selects 3 items frorn the lot. What is the probab1hty
that out of these threé items:- - | = . 2

i. Three items are non-defeetive © '

ii. Two are non—defectwe and one i is defectwe
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